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Primary Division: Problems III

P3.1. One of the children bought their teacher a mathematical plant for the classroom windowsill.
At the end of the first day it had increased its height by a factor of a half.
At the end of the second day it had increased its height from the end of day 1 by a factor of a third.
The class found that this pattern continued day after day. 
How many days did it take to grow to 10 times its original height?

P3.2. Three buckets are coloured red, green and blue.  Each bucket contains four balls numbered
1, 2, 3, and 4, of the same colour as the bucket.  Without looking, Emily chooses one ball at
random from each of the buckets.  If ,  and  are the numbers on the balls chosen from
the red, green and blue buckets respectively, Emily wins a prize when .

r g b
r = g + b

What is the probability that Emily wins a prize?

P3.3. Three-sided dominoes are equilateral
triangles and one face of each domino has
a number in each corner and the other side
is blank.  The numbers range from 0 up to
the highest number in the set, 4.  Here is
an example of a game which started with
the 4 4 4 domino.
The set contains all possible different
dominoes.  How many dominoes are there
in the set?
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END OF PROBLEM SET III
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